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Long Answer Questions. Answer should be given in 800 to
1000 Words. Answer All questions. All questions are
compulsory.

dIER @ URHIY] Hied B ARAT BT IR T 3Mfde @
froan aReferd HRY | 6

Explain Bohr’s model of atom and obtain an expression for
radius of an orbit.

auTfae Wag fohd bR &1 8idl 8, quid BT | 6

Describe types of molecular spectra.

Tif¥® & i w1 9o (i) N/P o/ gurd Ud (u)wfaw
RIGT & MIR TR BT |

Discuss the stability of nucleus on the basis of (i) n/p ratio and
(ii) odd-even rule.

e :

Note :

Hus - 9
Section - B

Ffdpad Id ;12
Maximum Marks : 12

oY SR U | U @ Sk 200 ¥ 300 vl H ford |
afl e erfrard 2|

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

WEHASId 979 @ oy AelageR sffdea g & g&=
fagatl @1 fagemn @Sy | 3

Write the point of difference between molecular orbital theory
of valence Bond Theory of Covalent bonding.

we By f& i H,0 @1 fggd el 1.85 D 8 Sdfe
CO, &1 I 2 | 3

Explain why the dipole moment of H,O is 185 D while that of
CO,is Zero.

AR & Bicsafagd uard Rigra @1 aftfa &g 3

Explain the Einsetein’s theory of photoelectric effect.
HPRO B GR9IT ST | SP, SP® denn SP® Wl #
gfererd S-=ifes @1 o ST | 3

Define hybridization and calculae percentage S-character in
sp. Sp? and sp® hybridizations.
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Long Answer Questions. Answer should be given in 800 to
1000 Words. Answer All questions. All questions are
compulsory.

AR fava, gelag™ Y vad fagd RS ¥ 3T
T AT &7 Mde IRof F 3= favd o garfad &
Il PRI B AT PO | 6

What do you understand by the term ionisation potential,
electron affinity and electronegativity? Discuss the factors
affecting ionisation potential in periodic table.

AR T gTgell & A faRIvarell &1 quie FHie? 3
aNg el 9 5 yaR =1 8t 87 6

Give the general properties of alkaline earth metal? How do
they differ from alkali metals?

3.

AT :

Note :

Y13 & Tl & &I oI B FASISY? NCl3 3R PCly

o

SlRUEed & Uvard faffr Sae 39 & RI? aran
P | 6

Discuss the general properties of elements of group-13? Why
NClz and PCl; give different products on hydrolysis?
Yus - §
Section - B

Afdepad s ;12
Maximum Marks : 12

g SEg U | U @ Sk 200 ¥ 300 veal A ford |
F g sifard B |

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

SRARA &1 G &1 fagd avf aiforr? 3
Describe the structure of diborane?

ol T @1 gRIRG PR/ den NfSrm—a=nfery &

fqepol T &1 = B | 3

Define diagonal relationship and explain Lithium-Magnesium
diagonal relationship?

SaE TSl S BRY B foR S-S Wb Bl Ui
BT | 3

Explain the Born-Haber cycle for determining the electron
affinity?

e HINT 6 erggrorm arg argell vd gl & FH
o7 AT YRR BRal 87 3

Explain why does hydrogen show properties similar to bath
alkali metals and pologens?
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Long Answer Questions. Answer should be given in 800 to
1000 Words. Answer All questions. All questions are
compulsory.

IffhT B SR F MY R FUIA 87 UAUH pife rfafshan
@ ford ared sraven & FHIHRYT @ AT B | 6

What do you mean by the rate of reaction? Derive equation for
half life of first order reaction.

yHel GURIGREG RN B o7 MAfAd A B
UHTRI-THRITES 3fTETH § YA BIF dTel UHIRI-GUTEIBIRD
BT AW A | 6
What are photosensitisers? Name the photosensitiser used in
the photo-chemical decomposition of oxalic acid.

FA-ATF g9 F1 7?7 Sfud ISRl @1 dEdl 9
RST BN | 39 STAN R =l BT | 6

AT :

Note :

What is common ion effect? Explain with suitable example.
Discuss its applications.

Yus - §

Section - B

Afdhpad s ;12
Maximum Marks : 12

g SRIY U | U @ Sk 200 ¥ 300 veal A ford |
F g sifard B |

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

ARG R g? IfUd SERv B dEEdr § G 4
fararh SRS & ARz HRTRT | 3

What is catalysts? With suitable example explain
homogeneous and heterogeneous catalysts.

fr=iforRad o 91 fgl 1 W a9 ool iR | 3
Write short notes on any two of the followings.
(a) e~ w¥ma
Tyndall effect
(b) I ETSSIOT SATLIS

Standard hydrogen electrode
(c) @

Indicator
(d) IHR e
Buffer solution

UIfdsar 4o AWfhar &1 dIfe & 9 IR W

BITY | 3
Distinguish between Molecularity and order of reaction.
fae@ e oo w feuft Fifor | 3

Write a note on electrochemical series.
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Long Answer Questions. Answer should be given in 800 to

1000 Words. Answer All questions. All questions are
compulsory.

N-CH & FIHYU B JuiF HIFY | 6
Discuss the conformations of n-butane.

Afded e H UhTRIe FHGuadl &l fadda=1 ®ifore| 6
Discuss the optical isomerism in Lactic Acid.

U9 TR HBr a9 fiham w98y WR Siiadrss @1 SuRfd
wd arquRafa a1 # foran fafy SifSg | 6

Write the reaction of HBr on Propene. Give the mechanisms in

the presence of peroxide and in the absence of peroxide.
s - 9

e :

Note :

Section - B

ApaH b ;12
Maximum Marks : 12
SRIT_ YT | Ul & S’ 200 9 300 ea] H ford |
g A g |
Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.
ST FHagddl & RIA—g=3 ATHex0 9gfd &1 quie
DY | 3
Describe the Cis-Trans system of nomenclature of the
Geometrical isomers.
frefaRad At & IUPAC A forlRey | 3
&
(i) CH3—C|:—OH
CH3
0]
]
(iii) CH;—C—0O—CHj;
Write IUPAC name of following compounds :
i
(i) CH3—(|3—OH
CH3
0]
]

) CHy—C
%uaﬁeﬁ:? E A Ny ¥

Why d posmon in naphthalene is more reactive than [3
position.
Si-—ceer Afifhar @ wefaa fearfafd @1 avie
BIfSTY | 3
Discuss the possible reaction mechanism of the diel’s Alder
Reaction.
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Long Answer Questions. Answer should be given in 800 to
1000 Words. Answer All questions. All questions are
compulsory.

ol ®f¥d § SRaaEs iR Usfde ®F WA
faeyar? 8 arfae arfe S Shfad ifdrer wer S

D | 6
What structural and functional attributes must a call have to be
called a living all.

SaRa sifwforarell § ugelm =RuT USTgA-fhanR (ES) &
IO BT B | SAE & I @ B e Il R @
JoiF P | 6
Formation of enzyme-substrate complex (ES) is the first step
in catalysed reactions. Describe the other steps till the
formation of product.

fafer=1 fafisi &1 avie B SaeRv < gy IR | 6

e :

Note :

Describe various forms of lipid with a few examples.
gus - 9
Section - B

AffpaH fd 12
Maximum Marks : 12
oY SR TS| U P IR 200 | 300 vl H fored |
e A € |

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

DIRTBIAT H Dliadl (JYfaaerd) @1 qfFer &1 d@eg o
uie BT ST WS HZIoT § Afehg 9 F 9T

o B 3

Describe briefly the role of nucleolus in the calls actively
involved in protein synthesis.

we AR el (RER) 3R fod eawall Sad
(SER) & €19 2fcR 9arsy | 3

Differentiate between rough endoplasmic reticulam (RER) and
smooth endoplasmic reticulam (SER).

WIS 1 B 87 Siar] § g9a fHST arsy | 3
What are plasmids? Describe their role in bacteria?
g Bl el e | a1 aead 2 | 3

What is meant by tertiary structure of proteins?
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Long Answer Questions. Answer should be given in 800 to

1000 Words. Answer All questions. All questions are
compulsory.

IS d URHIY] WagH Pl FHSISY? 6

Explain the atomic spectra of hydrogen atom?

T WFEIRBIN BT THART TG ST FAHY? 6

Explain the Raman Spectroscopy and its application?

H,O 3fIR NH; & 121 AT0[fdes TR Bl FHSSY | 6

Explain Molecular Symmetry with molecules of H,O and
NH;?

e :

Note :

Section - B
Hus - 9

Ffdpad Id ;12
Maximum Marks : 12

oY SR T | U P IR 200 | 300 vl H fored |
1 g sifard 2 |

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

/1 3 9§ 9 39 F BUF IR-WagT I77] B iR F? H,
HCI, CO,CHCI, H,0, NHs;, NH,CI, CH;-CH;, CgHg, CCl,,
CO,. 3
Which of the following molecules will show a vibrational
infrared spectrum and why— H, HCI, CO,CH;ClI, H,0, NHj,
NH,CI, CH3-CHj3, C¢Hsg, CCl,, CO.,.

Fgu fewmoft PR e’ A99 & Ay R & 19 9a
5 Aoz uis, hyaRe e ¥ 9= o)l &1 SEenfyd
B & A | 3
Write a short note on finger print region and explain why does
maleic acid absorb at a higher frequency as compared to
fumeric acid?

U yeref Bl 43584 V@I, WA W Icford fhar SITel B |

AT @l 44474 R RE$ < 71 A favenmuE o |
AT BN | 3
A sample was excited by the 4358A line of mercury. A Raman
line was observed at 4447A. Calculate the Ramanshift in
-1

cm .

FYT—gull 3Mg03Ro Wagl Pl @ WANG Ud qguRHIS
AT BT H,0, CO, @ C,H, & ATl HHSIN | 3
Explain Rotation-vibration, IR-spectra of Ditomic and
polyatemic molecules with reference to H,O, CO,and C,H,.
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1. Ie9es B Id-Yy| Aeddd fhad YPR B BT B
e B Pifc @ olics o WA B W FESIR | 6
Define correlation. What are the types of correlation. Also
discuss the limits of the coefficient of rank of correlation.

2. AT & AEH FHIDHRO BT RITYAT BIFTY | 6

Derive standered equation of Ellipse.

3. Wad f(x) = [x] & URER & ARAT HIY TG f(x) BT TTH

Hifeg | S8l [x] "8 qUid Her B | 6

Discuss range of function f(x)= [x] and draw the graph of f(x),
where [Xx] is the greatest integer function.
gus - §
Section - B

Afdepad s ;12
Maximum Marks : 12

g Sg U | U @ Sk 200 ¥ 300 veal A fod |
F g sifard B |

Short Answer Questions. Answer should be given in 200 to
300 Words. All Questions are compulsory.

A9 31 BTG 5 [ logSineX dn 3

Evaluate §/logSineX dn

BIg AU UGRT bl ARAT DY | 3
Explain measure of central tendency.

feasy fo [Exé ﬁx56]=0 3
Showthat [bxa axbb]=0

FREY HHTT B AR B | 3

Explain cluster sampling.



